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1. c'f) (y*—2°)dx+(2° - x*)dy+(x* — y*)dz. Orser: _40 .
3v3

Cix?+y?4+22=3, x+y+2=2

2.

gS(x+ z)dx+(x—y)dy+xdz,
r

y*

[ - sumane — + Yl =1, Z =C, OpPMEHTHUPOBAHHBII MOJIOKUTEIBHO Orset: 7ab.
a’

orHocuTenbHO BekTopa (0,0,1).
3.

dex+(x+ y)dy +(x+y+z)dz,
r Orset: —za’.
x =asint,y =acost,z=a(sint+cost),t [0, 27].

4.

I ydx + zdy + xdz,
r OtBerT: —\/éﬂaz.
" — okpyxHocTh X* +Yy* +2°=a% x+y+2z=0.

5.

I(yz - zz)dx+(22 - Xz)der(X2 - yz)dz, I’ — KkpuBas nepeceyeHns nosepxHoCTH Kyba
r

3a 27 ,
|x|,|y|,|z|sa NAoCKocTbio X+ y+z:?. OTBeT: —Ta .

4370, 4371, 4373.



